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Approximate squaring of a circle by S.Mustonen (2008)
http://www.survo.fi/papers/GeomAccuracy.pdf

Approximate squaring of a circle (CL4 construction):

Given circle C with center in O and radius OA = r.
DC is a tangent perpendicular to diameter AOB.

BC = BD = OA.

DF is line through D and parallel to AB.

OF is perpedicular to AB.

G bisects OB and H bisects DF.

OJ=OG.

Draw a line L through points C and H

and a circle C2 with center J and radius equal to AG.

L and C2 meet in two points;

E is the one close to the point H.

Then AE is a side of a square with area approximating

the area of the original circle C.

The squared length of AE is pi1r
2 where

pi1=(84-6*sqrt(26))/17=3.14152...


